Marty Friedman Exercise

June 3, 2022
Mike Salow
Standard tuning
J =120
C major pentatonic
- 0 1 :g & Py 2 :g & Py
E-Gt ) I ‘ C o’ % ‘ i
A\IVJ ] | | — I o —]
o | | |
mf
8 5 8 5
T 8 5—8 5 = 8 5—8 5 -
A 7 5—7 b S—
D
D
™~
_ E minor arpeggio
o> = o o 2 o
7ee)
A\3 o ®
o | © |
7 3 3 7 3 3
T 5 5 5 5 5 5
! 4 4 4 4 4 4
A 5 5 5 5
B 7
=N
gminor arpeggio G major arpeggio
- A S 1 & :g & & :g 6 1 -
7 J _J
© = = 2
Y ’ | |
12 8 8 10 7
T 10 10 10 8 8
9 9 9 7
A 10 10 9 9
B 12
\
F7 arpeggio
& &
RN T P e, ST
ﬁ_“
& i — P i— s ”
7 == ==
8 5 8 5 z
F 6 6 6 6 |
N 8 5—38 5 8 5—8 5
~ 7 7 7
8 6 8

/UJ




